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ICT 16–1
Guardrails

{AB.Sc24.D.K.4.ii} {AB.Sc24.D.S.2.v}

Name: _____________________________________ Date: ___________________
Safety engineers design highway safety devices such as guardrails to keep vehicles from leaving the road. However, the design of some guardrails may be directly responsible for injuries and deaths. As you explore these web sites, you will:

• learn about the advantages and disadvantages of different styles of guardrails; and

• make a recommendation for the type of guardrail that should be used in Alberta.

What to Do

• Follow the steps in each part.

• If you are doing this from a printed master, record your answers in your Science Log or notebook.

• If you are using a word processor, enter your answers electronically. Remember to save your work as you go.

Part A

1. Use the scroll bar to navigate through the Citizens For Roadside Safety web site. Be aware that the site may contain information that is designed to shock you into believing the claims made.

2. Read and evaluate the information.

3. Answer the questions that follow.

What Did You Discover?

1. According to the web site, why should blunt end guardrails be removed from all highways?

2. List the advantages and disadvantages of the turn down guardrail.

3. After observing the photograph of the melt guardrail system, what do you think are the advantages and disadvantages of this system?

4. (a) Describe the E-2000 type guardrail system.

(b) What happens when a car strikes this type of guardrail?
Part B

1. Use the scroll bar to navigate through the Texas Transportation Institute web site.

2. Read the information and view the pictures.

3. Click on the QuickTime™ movie of the E-2000 guardrail system in action.

4. Answer the questions that follow.

What Did You Discover?

1. Explain what you think the following statement means in terms of what happened to the truck in the first photograph. “Full-scale testing reveals needed improvements in this guardrail under development that were not anticipated in the initial design.”

2. Explain in terms of kinetic energy why the E-2000 guardrail system is considered to be safer than most systems in use today.

3. Based on what you have learned, make a recommendation about the type of guardrail that should be used in Alberta. Explain why.
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